



Más ejercicios!! Por si necesitas practicar aún más

Escribe en cada recuadro el resultado obtenido.

1) $3 \cdot (-2) - [-3 \cdot 8 + 4 \cdot 7] =$

2) $5 \cdot 4 - 7 \cdot (-2) \cdot (-3) + 2 \cdot (-10) - 3 \cdot (-4) \cdot (-2) =$

3) $-2 \cdot 3 + 4 \cdot (-8) \cdot 0 - 7 \cdot 2 \cdot (-1) + 3 \cdot (-2) + 1 \cdot (-1) =$

4) $(5 - 3) \cdot (4 - 9) - (-2 \cdot 3) \cdot (-1 \cdot 5) - 4 \cdot (-36 + 12) =$

5) $12 + 8 \cdot 3 - 2 \cdot (4 \cdot 5 + 2 - 3 \cdot 6) - [3 + 5 \cdot (-2) - 7] \cdot (-3) =$

6) $-36 : (-3) : 6 \cdot (-7) - 25 : 5 =$

7) $-100 : (-5) : (-5) : (-1) - [-10 \cdot (-8) - 16] - 4 + 10 \cdot (-6 + 12) =$

8) $[-1 + 5 \cdot (-1) - 4 \cdot (-6)] : (-2 - 4) \cdot (-3) =$

9) $-(35 - 100) + 4 \cdot (-5 - 7 + 3) - 28 : (18 - 9 + 5) =$

10) $[-7 + (-9) : 3 - (-7 - 5) : 6] : (-6 + 2) + (-9 + 3 - 1) \cdot (-7 + 5) =$

11) $(-11 + 9) : (-1 - 1) + [10 - (-5) \cdot (-3) + (-12) : 3] : (-3) =$

12) $[-6 + (-9) : 3 - (-10 - 8) : 6] : [12 + (-7 + 3) : (-2) - 32 : 2] =$